Multiply and Divide by 0.001 (I)

Find each product or quotient.

33 x0.001 = 81+ 0.001 =
84 + 0.001 = 21 x0.001 =
27 x0.001 = 42 x 0.001 =
74+ 0.001 = 30+ 0.001 =
6 +~0.001 = 80 X 0.001 =
48 x 0.001 = 84 x 0.001 =
92 +0.001 = 12 x 0.001 =
94 X 0.001 = 58 +0.001 =
99 X 0.001 = 42 - 0.001 =
9-+0.001= 14 +0.001 =
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Multiply and Divide by 0.001 (I) Answers

Find each product or quotient.

33 x0.001 =0.033 81 + 0.001 =81,000
84 + 0.001 = 84,000 21 x 0.001 =0.021
27 x0.001=0.027 42 x 0.001 = 0.042
74+ 0.001 = 74,000 30 +0.001 = 30,000
6 + 0.001 =6,000 80 X 0.001=0.08
48 x 0.001 = 0.048 84 x 0.001 =0.084
92 +0.001 =92,000 12 x 0.001 =0.012
94 X 0.001 = 0.094 58 - 0.001 = 58,000
99 X 0.001 =0.099 42 - 0.001 =42,000
9 +0.001=9,000 14 + 0.001 = 14,000
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